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COMMERCE

Paper 11

1
Time Allowed : 12 Hours] [Maximum Marks : 100

-

Note —Attempt All questions. All questions carry equal marks.

. Fiscal policy means :
(A) Policy relating to money and banking in a country
(B) Policy relating to public revenue and public expenditure
(C) Policy ;elating to non-banking financial institutions

(D) None of the above

B3 . it means integrating the domestic economy with the world economy.
(A) Globalisation | _. (B) Privatisation
(C) Disinvestment (D) Liberalisation

3. The economic reforms have failed to :

(A) Keep fiscal deficits to the targeted levels
(B) Fully open the economy to trade
(C) Fully implement industrial deregulation

(D) All of the above
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4. Socio-cultural environment determines -
(A) The code of conduct of business
(B) Price mechanism of business
(C) Production planning of business
(D) None of the above
5. The economic environment of a business includes :
(A) Economic system
(B) Economic poliéies
(C) Economic conditions
(D) All of the above
6. Revenue can be defined as :
(A) Inflows of cash from the sale of goods and services
(B) Outflows of cash from purchasing goods and services
(C) Increase in owner equity
(D) Decrease in liability
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T Retirement of a partner covered under :
(A) Sec. 30 of Indian Partnership Act
(B) Sec. 32 of Indian Partnership Act
(C) Sec. 40 of Indian Paftne;'ship Act
(D) None of the abqve

8. Debt equity ratio measures ...........ccooevvvnviii. of the business.
(A) Activity
(B) Profitability
(C) Long-term financial position
(D) Short-term financial position

9. Payment of taxes is :
(A) Application of funds
(B) Sources of funds

(C) Funds from operation

(D) Loss from operation
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10. When shares are forfeited, capital account is debited by :
(A) Nominal value of shares (B) Paid amount on shares
(C) Called up amount on shares (D) Forfeited amount
11. In the case of an inferior goods, the income elasticity of demand is :
(A) Positive (B) Negative
(C) Zero (D) Infinite

12. A movement along the demand curve for soft drinks is best described

as :
(A) A decrease in demand
(B) An increase in demand
(C) A change in quantity demanded
(D) A change in demand
13." Which is the first order condition for the profit of a firm to be maximum ?
(A) AC = AR (B) AC = MR

(C) MC = MR (D) MR = AR
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14. Which of the following is not a characteristic of monopolistic

competiﬁon ?

(A) A homogenous product

(B) Product differentiation ‘

(C) Ease of entry into the industry

(D) | A relatively large number of sellers
15. In perfect competition -in the long run there will be no :

(%) produstion '  (B) costs

(C) normal profits ' (D) supernormal proﬁ‘ts
16.  Statistics means the characteristics of the :

(A) sample | (B) population

(C) both (A) and (B) (D) ﬂone of these
17. Rank correlation was developed by :

(A) Karl Pearson (B) Spearman

(C) Galton (D) Fisher
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18.

19.

20.

21.
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Accepting a false hypothesis is a -

(A) Type I error (B) Type II error

(C) Standard error (D) Sampling error

Data originally collected is called :
(A) Primary data (B) Secondary data
(C) Collected data (D) Organised data

Which test is applied to test the difference in more than two means whether-

differ significantly or not ?

(A) Z-test ‘ (B) T-test

(C) Chi-square test (D) F-test

The te.rm. ‘Management Theory J ungle’ was used by :
(A) Koontz (B) Sheldon

(C) Fayol (D) Gilbreth
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22. Management by objectives emphasises :
(A) Important objectives only
(B) Objectives of the top max?ggement
(C) Hierarchy of objectives
(D) None of the above
23. Communication can be :
(A) Oral g (B) Written
(C) Gestural (D) All of these
24.  Control function of management cannot be performed without :
(A) Planning function (B) Organising fun(;tion
(C) Motivation functioﬁ (D) All of these

25. The leader who gives orders and insists that he must be obeyed, is

called :
(A) Autocratic (B) Democratic
(C) Free-réign (D) None of these
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26. The last stage of product life cycle is :
(A) Introduction (B) Decline
(C) Growth N+ o oD Hiatariy
27. Who amongst the following is‘not a part of distribution channel ?
Gf Retaller® © (B) Wholesaler
(C) Dealer (D) Packaging firm

28.  The person who makes the final decision on what brand or make to buy after

all aspects is called :

(A) Initiator | (B) Influencer

(C) Buyer (D) None of these
29. Which of the following is pricing objectives ? .

(A) Market share * (B) Competition

(C) Market penetration ' (D) All of these
30. Promotion of a product does not include :

(A) Sales promotion (B) Advertisement

(C) Warehousing (D) Publicity
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31.

32.

33,

34.

Capital expenditure is incurred :

(A) to improve the efficiency of the assets

(B) to maintain the efficiency of the assets

(C) to restore the efficiency of the assets

(D) to check theA inefficiency of 1;1'.1e assets

Net working capital is defined as :

(A) Total assets less current assets

(B) The excess of current assets over current liabilities
(C) Marketable securities and cash

(D) None of the above i

The rise of dividend tax from 10% to 20% in # broader sense affects :
(A) The investor ' (B) Thg cofporate

(C) The stock market (D) The financial institution
Capital budgeting is applied in decision making of :

(A) Replacement decisions : (B) Research and development

(C) Diversification (D) All of these
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35.

36.

37.

38.

The cost of capital takes into consideration :

(A) Business risk _ (B) Financial risk

(C) Both (A) and (B) : (D) None of these
External sources of recruitment are :

(A) Educational institutions (B) Employment agencies
(C) Advertisement 3 (D) All of these

Which one of the following is not objective of human resource management ?
(A) Maximum individual development

(B) Healthy industrial relations

(C) Higher market share

(D) Dew}elopnjent of team spirit

Sensitivity training is also called :

(A) Laboratory training (B) T-group training

(C) Both (A) and (B) (D) None of these
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39. The permanent termination of an employee from service is called -
(A) Retirement (B) Retrenchment
(C) Demotion ) (D) None of these

40.  The theory of collective bargaining was given by :
(A) Dunlop (B) Hicks
(C) Keynes ) (D) Malthus

41. Increase in cash reserve rgtio leads to :
(A) Increase in bank credit (B) Decrease in bank credit
(C) Constant bank credit (D) None of these

42. Banks which are entered in the Schedule of Reserve Bank of India, are

called :
(A) Nationalised Banks (B) Government Banks
(C) Scheduled Banks (D) Foreign Banks.
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43. Banks are regulated by :
(A) SEBI (B) UTI
(C) RBI (D) Company Law Board
44. Who is the custodian of monetary reserves in India ?
(A) IDB'I : . (B) IFCI
(C) - UTI (D) None of ‘these
45. In the pre-reform period, the .banking s;actor :
(A) Functioned in a I;ighly regulate(.l environment
(B) Functioned in a manner detrimental to the general public
(C) Concentrated on making huge profits
(D) None of the above
46. EXIM Bank can be described as a :
(A) Commercial Bank
(B) Scheduled Bank
(C) Non-banking financial company

(D) Non-banking non-financial company
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47.

48.

49.

50.

A balance of payment surplus can be corrected through :

(A) Export promotion

(C) Increase in interest

A letter of credit is addressed to :
(A) The beneficiary

(C) The reimbursing bank

An indent in foreign trade means :

.

{A) A list of forwarding agents

(B) An order containing terms of trade

(C) A list made by suppliers of goods

(D) All of the above

The purpose of international trades"is

(A) To promote international understanding

(B) To increase national income

(C) To correct the balance of payments

(D) All of the above
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(D)

(B)

D)

Exchange control

Appreciation of currency

The negotiating bank

None of these
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